Blad1

input result output
AD DO CD |DNSSEC| answer RRSIGs AD output rules
0O 0 O - 1 0 0 answer CD or not BOGUS
0O 0 1 - 1 0 0 RRSIGS| DO and (CD or not BOGUS)
0 1 0 - 1 1 0 AD| (DO or AD) and SECURE
0 1 1 - 1 1 0
1 0 O - 1 0 0
1 0 1 - 1 0 0
1 1 0 - 1 1 0
1 1 1 - 1 1 0
0 O O |SECURE 1 0 0
0 O 1 |SECURE 1 0 0
0 1 O |SECURE 1 1 1
0 1 1 |SECURE 1 1 1
1 0 O |SECURE 1 0 1
1 0 1 |SECURE 1 0 1
1 1 0 |SECURE 1 1 1
1 1 1 |SECURE 1 1 1
0 O 0 |BOGUS SERVFAIL
0 O 1 |BOGUS 1 0 0
0 1 0 | BOGUS SERVFAIL
0 1 1 |BOGUS 1 1 0
1 0 O |BOGUS SERVFAIL
1 0 1 |BOGUS 1 0 0
1 1 0 | BOGUS SERVFAIL
1 1 1 |BOGUS 1 1 0

Pagina 1



	Blad1

